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ayZ) SN490 = HY603 600 x 200 x 12 x 25 - 13 Zpx= 4146
A4 BCP325 450 x 450 x 19 - 40
BLA AT TS LOME= 28 (mm) 28 (mm)
tef= 19 (FEDOHRIEmm) ts = 16 (GPLORIZ mm)
Fey=  325.0 (FEDFEIRIGIEE N/mm?) Fby== 325.0 (v =7# OFEMRIESTE N/mm?)
Feu= 490 (FED B RIEE N/mm?) Fbu=-= 490 (BeAF O 5| IRFRE N/mm?)
dj= 544 (mm) hb= 550 (75 WL IEREmm)
bj= 412 (mm) Ls= 450 (GPL® ff%mm)
o = 1.25
TV OBHEMTIREL bZp = 200/4 x( 600 "2 -55072 ) = 2,875,000 (mm®)
7 =7 DR W RS bZwp = 12/4 x 550.0 "2 = 907,500 (mm®)
T5 P DATBMEM bMfp = bZfp+Fby =2875000 x 325.0/1000000 = 934 (kNm)
=7 DAFAVEM bMwp = bZwp-Fby =907500 x 325.0/1000000= 295 (kNm)
@ ZDOATEMM bMp = bMfp+bMwp =934 + 295 = 1,229 (kNm)
TV ORRKMITM ST bMfu = bZfp-Fbu =2875000 x 490.0/1000000 = 1,409 (kNm)
7 =7 ORERTTAC IR ) m’ = 4x19/ 544xy (412x 325.0/16/ 325.0) = 0.70893
m=(1,0.709) = 0.70893
OV nwalok &5
P75 DA IR LA AT 7 T LR D R A R EZL 5
T VEERE O T jMfu = bMfu = 1,409 (kNm)
7 =7 OYEEWTE R bZwp = 16/4 x(450.0°2) = 810,000 (mm®
77 O R EF ) Mwu= m+bZwp*Fby =0.709x 810000x 325.0/1000000= 187 (kNm)
YRyt AR o> F K T Mu = jMfutiMwu =1409+ 187= 1,595 (kNm)
BEA TR &AL Ot 77 b jMu,/bMp =1595/ 1229 = 1.30 > 1.25 OK
Q) AMTT S DfRET
=7 OERKHEIFTN ) Mwu 126 U THHEEL 22 W I IR s 7% 5195
FEONIEM EEHE Lb = 10 (m) ZOEMHEAMT QL = 250 (kN)
(QLIZSKNFARIZEIY 1T 7= 1)
Wt AW D Qj = 2x1595/ 10.0 + 250.0 = 569.1 (kN)
Py = 7 Nl T R A B O A O BT A X S= 10 (mm) (S=10mm7250K)

DEE  a=S/y (2= 7.07 (mm)

MAAZES Le=Ls - 2xS= 430.0 (mm)
SRR AMT) q=Qj/ Le= 1323.43 (N/mm)
HF1c kA% 5 /) b=Fby-tbw= 5200 (N/mm)
AR RO EFEIET) ¢ =4 (qQ2+b™2) = 5365.77 (N/mm)

cos@=b/c= 0.96911
R VA B B D B KT )
waqu = (1+0.4cos 0 )2a-Fbu/y (3) = 5551.73 (N/mm) > c= 5366 OK

Q)R /IR VMR A IO

1AV S10T 11 - M22 — A AWK /) gbu= 228 kN/A
AW STER ST 3 RORNVNCTAHTH
3x gbu = 684 (kN) > Qj= 569.1 &N) OK
B — A MNT L TR0 % 4 RORAVNTAHT S
iB= 0.30 (m)
sMul=jB x4 x gbu =0.30 x 4 x 228 = 273.6 > Mwu= 187 (kNm) OK
B0 = 7T AR IR W O Rt nl n2 el pX py
2 2 55 60 60
Ans= 2+n2+((n1-1)-px+el)tw =2x2x((2-1)x60+55)x12= 5520 (mm?)
sMu2= 0.5+Ans*jB*Fbu=0.5x5,520x300x490/1000000= 406 (kNm)
406 > Mwu= 187 (kNm) OK
B = 7 IR O R
RV [y = EE R ISV TY 3=
Ans= 2+((n1-1)*px+el)-tw =2x (1x60+55) x12= 2760 (mm®)
CIE =k =Cis ke WY TN
Ant= ((n2-1)-py— ¢ )+tw =(1x60-24) x12= 432 (mm®)
TRl TR WA AR E L= T ) TR 5
sMu2= (Ant+0.5+Ans)+jB+Fbu = (432+ 0.5x2,760)x300x490/1000000= 266 (kNm)

266 > Mwu= 187 (kNm) OK



